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OJlseizryst s#xsts HSYR
700,00020 * 1CH * 23l 1,400
2 700
2 700
301 QB AE 8,600 0 8,600
2 4,300
2 4,300
10 BAAIHI 243 8,600 0 8,600
OJleo2 LSDS 2A2 3,200
ool 70,0002 * 1AI2H * 208l 1,400
2 700
2 700
OES! 30,0002 * 3AI2+ * 203] 1,800
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OJle2Ey 2aDS FHZAY|
7,008 * 309! * 203l 4,200
2 2,100
= 2,100
OJle=%y 23DS IS FARY
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ULSAY Bl L ARSI X 10,000 0 10,000
2 5,000
2 5,000
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01 A2 22l 2,500 0 2,500
OBYALY S MAT M
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= 75
Odas 2el 23| 235,000& = 102l 2,350
= 1,175
= 1,175
202 (44l 7,500 0 7,500
= 3,750
= 3,750
01 S LHA bl 7,500 0 7,500
OZasz4de XNF &K X0
130,000& = 30¢! 3,900
= 1,950
= 1,950
OZ=E 2448 230l
10,000& = 12¢! * 30 3,600
= 1,800
= 1,800
sIHEE A 304,321 155,597 148,724
= 4,500
= 299,821
sIHUSsEH 9,000 3,000 6,000
= 4,500
= 4,500
201 Bt A | 3,000 3,000 0
= 1,500
= 1,500
01 AR 2teld| 3,000 3,000 0
OSIINER0IBI2DS 2
750,000& * 43| 3,000
= 1,500
= 1,500
405 XHaHF S 6,000 0 6,000
= 3,000
= 3,000
01 AL =S HSH| 6,000 0 6,000
OZFMIISA EM E(sIAHZ22U)7L
6,000,000  1CH 6,000
= 3,000
= 3,000
SIHSUAME 23 295,321 152,597 142,724
101 2124l 68,321 54,697 13,624
04 JI12tH 22 RS E 68,321 54,697 13,624
OsSJIH SUHAY EX2Y
66,0102 * 3@ * 200 57,429
OJIZFMZ2 X &2z 66,0103 = 32 « 552 10,892
201 get2Ed| 23,400 18,400 5,000
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01 QI2t X228 X 50,000 50,000
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O[AMEEBIRXIYI] 900
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206 M= 4l 17,400 25,700 A8,300
01 M Z 4l 17,400 25,700 28,300
Od=sgel Ws sz
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10,000& * 362! » 253 9,000
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10 AL HIEA S 9,700 15,430 5,730
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OE=sZeus A= 3,000
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Os&2SIHENE M= 1,300
ol 70,000& = 1AI2t = 103 700
o=t 30,000& * 2AI2F = 102 600
OMERANNE A+ 1,100
oJl 70,000 * 1AIZ2E = 113 = 1JHBt 770
o=t 30,000& * 1AIZE » 113 = 1JHBH 330
ONIMYEIISAE DF ZAI=E 3,250
oJl2 70,0003 * 1AI2t » 253 1,750
o=1t 30,000& * 3Al2+ = 16.663] 1,500
sHtE IS4 33 25,000 25,000 0
402 SI2HXH=01 M 25,000 25,000 0
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01 QI2t =28 X 25,000 25,000 0
Osa2It3 433 Jletx=d K&
10,000,000& * 544 = 50/100 25,000
sZoHM =4 282,250 231,690 50,560
= 11,148
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s HA SIS 90,290 82,690 7,600
201 B2 FH| 5,000 5,000 0
01 At 2teltl 5,000 5,000 0
olgxtz] 5,000
O=sgoHMa & XNes HYWs eIt
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01 S bI 3,000 3,000 0
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402 RI 2201 & 16,000 16,000 0
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28X 40,000 0 40,000
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01 HZ I 8,150 8,920 ANTT0
OZEZEH 29 M=
81,500& » 10& * 10& 8,150
= 4,075
i 4,075




M s€lis4dH
M g Jl=oHy

Sl BB Y SHIYIIEX (e

] _ - HEC =
SN-EHH . SH(BH) - HPAY - BE2 O] Ak 4 il b o B2
NEFEN BRA 2Y 7,140 7,140 0
= 3,570
2 3,570

201 YBr2gy| 2,140 2,140 0
=2 1,070
2 1,070

01 At 22|t 2,140 2,140 0
OABASMBRIM 2 214,008 * 105 2,140
= 1,070
2 1,070

206 T 2 bl 5,000 5,000 0
= 2,500
2 2,500

01 WEYI 5,000 5,000 0

OREH ZHB2IM SHHE

50,0002 * 105 * 10% 5,000
= 2,500
2 2,500

MExe IR a 29,067 %, 126 66,059

B MAEZ 29 4,517 4,431 86
101 Q1248 1,817 1,731 86
04 JAH2RNE 24 1,817 1,731 86

OHEZHID AL 2% =g
36,3402 * 501 * 10 1,817
201 QEr2gy| 1,200 1,200 0
01 At 22|t 1,200 1,200 0
OHBZHIR TAE 22|
150,008 * 4% * 23| 1,200
206 T2 bl 1,500 1,500 0
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OAMZEL JISXE ST HE
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10,000,0002 * 1HELXI * 70/100 7,000
A MIIE2S AAL 21,000 0 21,000
402 212t 20| 21,000 0 21,000
01 DI A= R E 21,000 0 21,000
ODILITHSE: B! SN
20,000,0002! * 1HEFXI * 70/100 14,000
OBYXFH 2SHZ2 HHESA =&
10,000,0002 * 1JHEFXI * 70/100 7,000
SaaS JleHY 314,796 297,220 17,576
ssxg 84 7,511 6,611 900
101 Q1248 4,361 3,461 900




M s€lis4dH
M g Jl=oHy

Sl Sse JlENY (25 &2
_ _ HE T
SA-BH.C(BH) - HRAY - B O AF o8 il i~ o Rz
04 JAR22RE 24 4,361 3,461 900
ONSXNITZ2Y 09y
36,3402 * 501 * 242 4,361
206 TH 2 b 3,150 3,150 0
01 T2t 3,150 3,150 0
GENS ABE 29 WE
135,008 * 105 1,350
OFSH ASANYT 2% M2
45,0009 * 105 * 43l 1,800
Aey SN2 IR 284,500 277,000 7,500
201 Yere gt 1,500 1,500 0
02 ZZ2H| 1,500 1,500 0
OLA&R YIS XIHI] 1,500
OFBAZLB2IA FHH S|
50,0008 * 105 1,500
206 T 2 bl 275,500 265,000 10,500
01 T2t 275,500 265,000 10,500
OFel Mo =3 BN X
1,009 * 250,000kg 250,000
ORSFSLZLIL 2 B2
300,0008 * 85% 25,500
402 212t 20| 7,500 10,500 A3,000

ES 7,500 10,500 A3,000
OQUHUES SA HOAAEY TEAE
3,000,00020 * 54 * 50/100 7,500
I AL 2 22,785 13,609 9,176
101 Q1248 9,085 7,505 1,580
04 JAR22RE 24 9,085 7,505 1,580
OZHWYA 2 o2
6,340%1 + 201 1252 9,085
201 YEr2gy| 6,700 6,104 596
02 232l 6,700 6,104 596
OXHHSA ZHl R 200,002 « 105 2,000
ODT0 YR #32a HERFY
1,305.4280 * 1CH * 24AI2t * 1502 4,700
206 T 2 bl 7,000 0 7,000
01 T2t 7,000 0 7,000
OZNYASY WE 200,009 * 353 7,000
HolE S JIEX 20,200 0 20,200
=2 10,100
2 10, 100

golsda 24 20,200 0 20,200




M s€lis4dH
M g Jl=oHy

ool Hols SRS JeXe

_ pSNE e
S EHB .S (BH) - HRAIY - B2 Ak e 2
= 10, 100
= 10,100
101 21 21H| 7,268 0 7,268
=2 3,634
2 3,634
04 JIZRH2RTSE % 7,268 0 7,268
Obl Hals AT 2ozl
6,34020 * 101 » 200 7,268
=2 3,634
2 3,634
201 LEr2 Y| 5,532 0 5,532
=2 2,766
= 2,766
01 AL 22l 5,532 0 5,532
Ol Hols laZ 29|
5,302 * 10Z * 108 5,532
= 2,766
2 2,766
206 T 2 bl 7,400 0 7,400
= 3,700
2 3,700
01 X 2| 7,400 0 7,400
OH s HEZ 292
50,0008 * 105 * 4% 2,000
=2 1,000
2 1,000
Of gills 2ET 224N
300,00080 * 18744 5,400
= 2,700
= 2,700
SEA2 BEDZ3 J2X 200,000 0 200,000
= 100,000
= 100,000
OFMEAS MAH ALS T HACCP X EAlY 200,000 0 200,000
= 100,000
= 100,000
402 Q12X 0| & 200,000 0 200,000
= 100,000
2 100,000
01 L2 EER 200,000 0 200,000
OQtFZAS MA AFS T HACOPE 2 AlE
200,000,0008 * 1744 200,000
=2 100,000
= 100,000
HHSAAH (SEXFD) 206,360 198,670 7,690
=2l 206,360 198,670 7,690




2A sYIladH
A HH2FGU(sEXA L)
chel: J|2A (el &2
A -3 -H2A(SH) - HEAMY - BES Of &F 2K glggi; Hlns2t
SEX =23 190,577 182,887 7,690
201 Lt A 140,727 133,037 7,690
01 At 22l 45,276 40,466 4,810
Oolget424|] 11,700
ORNEE S A 11,700,0008 * 14l 11,700
oleg=¢] 24,050
ogxAg 50,0002 * 116 5,800
oxxAY 50,0002 * 365 18,250
Ol=&l] 9,526
ORANSY SHAHAN
7,0009 * 2191 * 64,8 9,526
R =329l 95,451 92,571 2,880
Ol8322 2 MAlI 59,463
ORER2 25091 * 22,5000H 5,625
o= 36,0002 * 9CH » 128 3,888
oxJIIe= 2,789,9602 * 12& 33,480
OMLER3 585,0008 * 12€ 7,020
OSUoIMEE HEEAER
45,0009 * 104 = 12& 540
oolexEsz 60,0002 * 3CH 180
OXJ|otM 22| Ch el 360,0008 * 123] 4,320
OFI|ILH| QHNFH 242
630,0008 * 13] 630
OAYHIICHM 2| CHEY Yl 240,0008 * 12€ 2,880
OLYIIAA =42 900,000& * 13l 900
Olezdl] 5,658
Ot )|t 2
1,037.591 * 204 = 8AIZ2t » 113.612 » 304 5,658
A
O[AIZEHIKXIHI] 15,480
OXAEHI(2AD], ZRIE A )R
360,000 * 9CH * 23] 6,480
O HAIS XIHI 9,000
oA 1,575,0008 * 45 6,300
oatEA 540,0008 » 54 A 2,700
O[Xtea eyl ] 14,850
OXt &R Xl 1,620,0002 * 5CH 8,100
O MeXE RFWU  1,350,0002 * 5CH 6,750
202 01 40,950 40,950 0
01 204l 26,550 26,550 0
O[=2uoddl] 26,550
ORN2Y SUHA
20,000 * 2191  63.214 26,550




SH: sUIISHE
M HESARU (SENLD)
el J|= Y| EEREED
. _ . rSIEL== -
A -3 -H2A(SH) - HEAMY - BES (il & OH Ofl At ot HwsZ
02 22404 | 14,400 14,400 0
OSpIaEA Mo
200,002 * 621 * 122 14,400
203 2= Z bl 8,900 8,900 0
01 JB2g AL = Y| 3,300 3,300 0
OJB2YHREAY| 3,300,0008 * 10! 3,300
02 HEHIY R =T Y| 1,280 5,600 ~4,320
OF AN REF Y| 40,0008 * 329! 1,280
04 PA2HALETY| 4,320 0 4,320
ORN2YAREAY| 360,000 * 128 4,320
IEE3 Il 15,783 15,783 0
201 Lot 11,733 11,733 0
01 AL 2r2/Hl 11,733 11,733 0
Olger=gyl] 6,300
ORN2Y SAUHY 6,300,0002 * 14! 6,300
olaztl] 5,433
ORN2Y EUHY
7,0008 * 109! * 77.612 5,433
202 01 4,050 4,050 0
01 2 LHOI | 4,050 4,050 0
Ol=Uoitl] 4,050

-

ORKNEE SHAY

20,0003 * 10! = 20.25& 4,050




